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	QUESTION
	SC

	1. The primitive data types DOUBLE and LONG need the same amount of memory (8 Bytes), but LONG covers a smaller range of numbers. Why then sometimes use LONG ?

· Never use LONG, it’s only defined due to compatibility reasons

· LONG has a constant integer-precision which is often needed

· It is not possible to store a number without fraction (e.g. 2.0) in a DOUBLE, it is always converted to LONG
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	2. A method declared as PUBLIC STATIC VOID myMethod() of a class  PUBLIC myClass

· is visible to all classes

· is a ‘class method’, i.e. can be used without an instance of myClass by calling myClass.myMethod();

· is an ‘instance method’, i.e. an instance of myClass() must be created to access the method 
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	3. The constructor of a PUBLIC Java-class

· is always the only accessible method of a class

· is needed to create instances of the class

· is a good place to initialize data elements
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	4. A Java-class

· always contains at least one data element

· always contains at least one method

· contains either data elements or methods, never both

· contains any number of data elements and/or methods
	2

	5. The garbage collector of Java

· keeps track of unreferenced memory and therefore prevents from memory leaks

· sets all variables to zero every ten minutes and therefore prevents from getting undefined results
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	6. Java is a write once, run anywhere – language. This means:

· SUN Microsystems gives you a money-back-guarantee that all your programs are error free

· your programs runs inside the java virtual machine that hides operating system specific behaviors
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